N of simulated tracks vs transverse vert position N of associated tracks (simToReco) vs transverse vert position N of simulated tracks vs z vert position

n n n
o o @
2 = 2
£ ! =
© Q ©
o o o
£10? £ 102
X 2] =
8 5 8
g 810 g
= 0] =
o
10
il 5
S 1
—(opa— W
o obal M SW -
I T [ T
o o [ o
1l b R 6 (RS o o BB 52 3 - & SRRREEEEE EEEEEE PR 1+
0.05 ; ; ; ok ] ; ; 0.05L ; j ; i ;
10—2 10—1 1 10 102 10—2 10—1 1 10 102 =30 -20 -10 0 10 20 30
TP vertr (cm) TP vertr (cm) TP vert z (cm)
N of associated tracks (simToReco) vs z vert position | | N of simulated tracks vs. sim PV z | | N of associated tracks (simToReco) vs. sim PV z |
N %] n .
o @ o H
[ I R S S S o = -
° = gl .
2 g 2 :
S b PR P AP 9 2 3 :
= £ B :
c Q c .
8 g 8 :
Q Freeeeeem ey L B R N R R T = [0} - - - .
o 2 .
10 :
1 i
i PP I | I P (A PRI P ) 1 P
oL ; - - ; ; o-vf ]
s f ; s f :
x [ : @ [ oo
th------ Meeeeaas ik X RS PR Feeaaas 1+ —— R R
0.05L ; ] ; ; ; S N I M H R H N F . RS U N O N 1 I 0 O
=30 -20 -10 0 10 20 30 -10-8 6 -4 -2 0 8 10 -10-8 6 -4 -2 0 2 4 6 8 10

2 4 6
TP vert z (cm) TP Sim. PV z (cm) TP Sim. PV z (cm)



	Contents
	Page 1


